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REE(A) BIELL(%) | REEH(FE)  BUE(%) | #IAZE(%) | SiEFIAE(%)
JALJTAZ I —T&5t 647,486 104.1| 773,721 98.3 83.7 79.0
MR JAL 332,146 102.7] 367.118 97.3 90.5 85.7
JTA 269,329 106.9| 344,025 99.3 78.3 72.8
RAC 41,658 99.3 57,250 99.0 72.8 726
JAC 4,353 91.0 5,328 89.5 81.7 80.4
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il ki REH(AN) | BIEEE(%) | REFERGE) | fiFELtb(%) | #IAE%) | siEfIAE(%)
FIH=#E JAL/JTA 237,340 100.0| 263,037 97.2 90.2 87.7
FrR=#8% JAL 46,8472 103.8 52,691 95.7 88.9 81.9
g =ARE JTA 24,997 127.5 32,340 105.4 T3 67.1
&l = ARER JTA 50,227 107.9 61,5645 100.8 81.6 76.3
FH=HAE JAL 28,313 127.5 31,248 103.3 90.6 73.4
FH==5 JAL 15,240 117.0 16,182 104.3 94.2 83.9
FH=AXKE JAL 4,525 76.0 6,435 68.4 70.3 63.3
B =HaiE JTA 8,908 117.8 10,230 103.3 87.1 76.4
EfE=24 JTA 9,239 117.6 10,230 103.3 90.3 79.4
hER =A% JTA 40,285 119.5 50,325 118.2 80.0 79.2
fE Ll =ARER JTA 8,919 102.4 10,230 100.0 87.2 85b.1
INA =FRER JTA 7,647 105.6 10,230 100.0 74.8 70.8
ME=—TEKS JAC 950 105.2 1,344 90.3 70.7 60.7
MEH=5H RAC/JAC 5,504 92.1 5,996 91.0 91.8 90.7
AREE =Pk B ER JAC 2.175 88.8 2,688 90.3 80.9 82.3
2 HMRET 491,111 103.7| 564,751 98.1 87.0 82.2
PBE==4 JTA/RAC 64,489 106.6 79,345 96.9 81.3 73:9
MRE=Ha1E JTA 51,302 105.2 71,280 101.0 72.0 69.1
AR =KE JTA/RAC 17,688 108.3 25,330 101.5 69.8 65.4
AFE=FAR RAC 3,344 93.7 5,500;{ 118.3 60.8 76.8
REE =4t K= RAC 1,518 105.7 2,600 167.7 58.4 92.6
ARE = S5ARE RAC 2,999 117.8 5,800 138.1 51.7 60.6
BEh=%EM RAC 4,383 133.0 6,050 102.5 72.4 55.9
fiE=53E RAC 6,175 104.5 8,800 91.7 70.2 61.6
=2h=fAtE RAC 3,957 83.6 5,750 85.8 68.8 70.6
B ARET 155,855 105.0] 210,455 99.5 74.1 0.2
EHERR R AT 646,966 104.0| 775,206 98.4 83.5 79.0
T EHARR RS 5T 520 = 660 = 78.8 -
S RIESET 647,486 104.1| 775,866 98.5 83.5 79.0
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B BT ER(t) | BIE(%)
BIFE =A% JTA 131 106.8
128 =A% JTA 307! 115.4
BIFE=lE JTA 681 118.2
P == JTA 34| 133.3
R = FRER JTA 195 85.1
il =7#RER JTA 15 67.7
IN\FA=FHRER JTA 4 39.0
RE=5H RAC 1 98.8
EOMEET 755 102.8
PE==mh JTA/RAC 616 91.3
HE=H[18 JTA 641 126.5
ME\E=AKE | JTA/RAC 128 99.9
INE =R AR RAC 23| T35
ARER =4 RER RAC 9 99.6
AE =5HE= RAC 24 122.0
=% B RAC 251 104.1
AE=53E RAC 36 66.6
=L =AlE RAC 301 123.1
S 1,632 104.5
EHRRIS ST 2,287 1 103.9
AN EHRRIE S 0 -
SR aE 22871 103.9
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